79t~7vbfww

NO 28

PAS Wt g
: @ ﬁEUEE%ﬁEEX 771:—-7%*‘!?—)1/3&& @ 20237155%?;52
‘%’_ﬁﬁg 2023:@;105‘113&“;;!3?@ RCECICIETE2N G D A % ( exsre—se-nsa) " 3 M 3D
23] DERF REBE A-T1 . R T8 ( B#57e-TaR-nlB .)
[0 ERBYH 248 EARE PR~ |EN BIE ( Assre-sas-age )
ISIARE B HEX %QQ - . SR 8k ( hm-;m-:.m—u—tsﬁ )
X B 2 S
Foa— TR @ |EnEs  EB¥ gp | [COREE . |tE SR f ? ﬁ
: A
- K2R #m . #.ERL.‘-
No. ER 23 [ Pos AR ERE No. Ef® 24 | Pos,
1 R 3 WE_| B* wE [ & | (O Tx 28 3
2 Nl =¥ 3 i 1 T 2 1 2 BE nB 3
3 SE B 2 1 [ G 2 ] 3 F Fg 3
4 5 WA - 0 ] PT 0 1 [ AR K T | ew
J EOR T 3 1 1 PA| 1 1 5 SIFE BF 2
g BRI A 2 0 0 G| 0 0 3 ITER mar 3
Bl © 2 7 P8 @ 3
8| Foes 1Ao7 2 10 | 8 (&) 17 | 17 |y B BE 3
9 NG 12 3 ] #FE EX 3
70 B RA 2 | '™ 18 Ai) 34 0 WE RA g
i HE AAR 3] . i T 3
12 RE 8 2. |18 3] 12 T E5 3 g
13 T=EY {JTY 2 xR — | ER® xR &% 3
14 BF B 1 PK FK . PR K 14 RE el 2
i5 TI_f&5 2 _| FB 2 0 [@E 2 0 15 NR_58 Z_|FB
16 B B 3 3 0 l&¥[ 4 0 16 BB —B 2
17 R 3 5 0 |&&t 6 0 17 it XL 2
18 - B0 _mZIr 2 , 18 CHIENEES 3
18 FAIYT UEFE 2 | po 19 FAES] 1 e
20 Er TR 2 20 BRI i 1 g
21] - L TAER 3 21 ME B3 2
22 EEEES 3 22 BE & 3
23| . Bm gs 3 23 &A@ Xd 2
» REFZTORHEEFYTTY Xﬁ%%mﬁ?&ilﬁ-vjv-/
AARTRE BEOAR AR BAGEE BANAR B —BNXH
BR| BB | AEw B HEE | AE | [BER] mE | ges FfH Haes | A8
AR | e 3357 9= 20]- |- ——~ —— |- - = — {———|- | AB[ &% 132 6-~ 18 =1-
AR | RE 29914 - 22 ~ - - AB[&E 16512 - 22 - =
AG|&E 29913 ~ 23 ~ - AB|&¥ 31%] 1 =~ 17 ~ -
- ~ — AE|&F A5 3 < 16 ~ -
~ - - A | &E 31511 = 21 ~ =
AoV BiE . : B vy RIE -
gE | &M FESEE | AR BE 2] FE EA RE
{To— |@&# 299 . 6 &‘IEaE HBEORA
#aRA HiFKick off F—4A EER - - —
BE | F—h& | HES | GE [AAR|-[EER|| _BEm | L% | wws | @m [AHW| - |[EER
BE_ 2% | EHR g DGX | 0 | -] 0 | [&% 5% &R 9 g i3 -] 24
Bt 957 | ADR 14 FG 3 J-] 0 BRE 19| ERR g PG 13 [ -] 27
Wie 127 |  EER . 9 T 3 |-] & BE 268| KAR 3 T 8 |- 27
WE 149 | ERR -9 G 3 [-| 7 g% 88| XAR 14 Gx 18 (- 27
BIE 1047 | fERR 9 PG 3 |~ 10 | [&% 30%]| EAR PT 8 | -| 34
|EFE ST ERE 14 T a | -] 15 -
M 204 |  fERR 9 G | 3 |~ 17 -
fi 255y| A |- 11 T g [-[ 17 -
i _2657] KR . 14 G 0 |- 17 -
BE 1% | KR 14 PG- | 13 | -] 17 -
&F 4% | ERR 2 T 13 | -] 22 =
(T =141 TG=aun -7 ava - LR |- (G X =2on ~5 503 R 1 P SATFIT+4)- 1] PG—A FLT-0 - .
[PG X ="t F-T-N &8} - IDG=N0y7'T-LEES) - [D6 X =0y73 -lb-'%ﬁkl i

_,"<¢qr" EPES



